[image: image2.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


T13S
Triumph Street Triple 675 2013-2016
Triumph Street Triple 675R 2013-2016
	Kit for the left side
	Kit for the right side

	
	
	
	
	
	
	
	
	
	

	No.
	Description
	Cat.no.
	Pcs
	
	No.
	Description
	Cat.no.
	Pcs
	

	1
	Dural. adapter SL d=45mm
	313
	1
	
	4
	Dural. adapter SL d=45mm
	313
	1
	

	2
	Bolt M10x75x1,25
	938
	1
	
	2
	Bolt M10x75x1,25mm
	938
	1
	

	3
	Dural. cylinder d=15mm
	8
	1
	
	3
	Dural. cylinder d=15mm
	8
	1
	

	4
	Bolt M6x25
	877
	3
	
	4
	Bolt M6x25
	877
	3
	

	5
	Bolt M4x16
	876
	2
	
	5
	Bolt M4x16
	876
	2
	

	
	
	
	
	
	
	
	
	


Installation:
· Installation of the left and right protector make in gripping about the attached photo above.
· Use ID.2 bolt to mount the SL adapter ID.1, under which you dial the dural. roller ID.3
· Then install the M6 ID.5 slider with M4 bolts ID.6 dural. plate.
· At first finish the one side and then mount the second side.
Warning – we recommend to use safety glue on threads of all bolts (moderate strong – blue colour).

[image: image1.png]



[image: image3.png]


 
2

